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Il passaggio dal campione alla popolazione...

* Obiettivi dello studio

 Disegno dello studio

« Materiali e metodi,
criteri di inclusione/esclusione (popolazione oggetto dello
studio)

« Scelta del campione

 Valutazione e descrizione del campione

* Inferenza sulla popolazione

e Discussione dei risultati



stime
« Stime puntuali
« Stime intervallari
« Confidence intervals

Cosa significa se leggiamo:
c.l. per g al 95%: (26,4; 30,4) ?
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8 select-statistics.co.uk/calculators/confidence-interval-calculator-odds-ratio/
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Odds ratio — Confidence Interval

Use this calculaktor to determine a confidence interval for your odds ratic. An odds ratio is @ measure of association between the presence or absence aof two

properties. For example, it could provide 2 measure of association between customers who are either older or younger than 25 and either have or have not claimed

on their car insurance, in order to determing whether age is associated with the propensity to claim. The value of the odds ratio tells you how much more likely

someone under 25 might be to make a claim, for example, and the associated confidence interval indicates the degree of uncertainty associated with that ratio.

Calculator
Property B
Contingency table
Fresence Absence
Presence | 15 | | 185 |
Property A
Absence | 14 | | 286 |
what cenfidence level do you need?
95 = 0
Typical choices are 90%, 5%, or 5%

Your odds ratio is

Your confidence interval is

(0.78 , 3.51)

Calculator
Property B
Contingency table
Presence Lbsence
Fresence | 130 | | 18350 |
Property A
Absence | 140 | | 2860 |
what confidence level do you need? S
' s |+ O
Typical choices are 90%, 35%, or 95% —

Your odds ratio is

Your confidence interval is

B



St| me (vedi es precedente)

Formula
This calculator uses the following Formulae to calculate the odds ratio (or) and its confidence interval {ci). or = a%d / b*c, where:

® 3isthe number of times both & and B are present
® s the number of times A is present, but B is absent,

® Ciskn

ik

number of times & is absenk, but B is present, and
d

d is the number of times bath & and B are ne

lculake the co inkeryal, we us log odds ratio, loglor) = leg({a*d/b*c), and calculate its standard errar:

The confidence interval, i, is calculated as:

ci = expiloglor) + Za/2*v1/a + 1/b + 1/c + 1/d)

K

O - the critical value of the b Phistribution at a/f

¥}

(e.g. for a confidence level of 95%, ais 0.05 and the critical value is 1.

Mote: The logarithms included in the formulae above are natural logarithms, i.e., log base e, sometimes denoted In().



Stime (per una proporzione)

Confidence interval for a proportion

Estimate the proportion with a dichotomous result or finding in a single sample. This Cosa succede
calculator gives both binomial and normal approximation to the proportion. con N=40 e x=27?
Instructions: Enter parameters in the green cells. Answers will appear in the blue box
below ’ ’ " e se CL=99% 0 80%
N= 400 Sample size

XxX= 20 Number in the sample with the result or finding in question

CL= 095 % Confidence level

b (1 —p)
fooosen A Ll i

1. Binomial "exact" calculation

Proportion of positive results = P = x/N =
Lower bound =

Upper bound =




stime

* Trovare il c.i. al 95%per la stima della media di una
popolazione gaussiana N(u, o), avendo a disposizione

| dati di un campione, opportunamente scelto, di nume-
rosita n, media campionaria m e dev.st. campionaria s.

e g-S. g-S
Risulta: M—— M+ —
m-3im 2

Cosa succede al variare di n, e cosa al variare di s?

g e il quantile ...



stime

» Calcolo a priori della numerosita n del campione per la stima
della media di una N(u, o), data la lunghezza massima k del c.i.

2qs
Poiché la lunghezza del c.i. e ﬁ deve essere: \/— =

da cui risulta: n=> (238)

<Kk,

Ad es. se vogliamo un c.i. al 95% (g=2) di lunghezza non superiore a 1
e se pensiamo che s=5, risulta n=400.
Ma se ad es. mi basta k<2, allora n=700.



Clinical course and risk factors for mortality of adult
Inpatients with COVID-19 in Wuhan, China:
a retrospective cohort study — March 11, 2020 -The Lancet

191 patients (135 from Jinyintan Hospital and 56 from Wuhan
Pulmonary Hospital) were included in this study, of whom 137
were discharged and 54 died in hospital. 91 (48%) patients had a
comorbidity, with hypertension being the most common (58 [30%]
patients), followed by diabetes (36 [19%] patients) and coronary
heart disease (15 [8%] patients). Multivariable regression showed
Increasing odds of in-hospital death associated with older age
(odds ratio 1:10, 95% CI 1-:03-1-17, per year increase), higher
Seqguential Organ Failure Assessment (SOFA) score (5:65, 2-61—
12-23; p<0-0001), and d- dlmer greater than 1 pyg/mL (18-42,
2:64—-128-55; p=0-00389=e= .
Current smoker (vs ngn-smoker): 2- 23 O 65—7 63 .
Female sex (vs male)j§0-61, 0-31-1-20 .




cos'e un test di ipotesi

e una “procedura di calcolo”
permette dirifiutare un‘ipotesi H,

iInput
« dati di una campione \
output
* un consuntivo “ipotesi nulla”
decisione
* in base al consuntivo si rifiuta oppure non si rifiuta
I'ipotesi

« Semplificando le cose:

p <a,respingo H,,
P > a, non respingo H,



Ipotesi nulla, HO:
Il nuovo farmaco non e efficace

Vero falso
accetto decisione errore
corretta (2° tipo)
rifluto errore decisione
(1° tipo) corretta




cos’e un test statistico

(HO) il nuovo farmaco non e efficace

vero falso
accetto 1-a P( accetto | falsa )
B, beta
rifiuto | P( rifiuto | vera) 1-P
a, alfa

a e detta significativita del test; 1-f potenza del test




Esistono diversi tipi di test ...
noi intanto ne vedremo 4 (altri poi ne vedremo

al 3° anno):

Test del x? di indipendenza
test esatto di Fisher di indipendenza,
test t di Student per il confronto tra due gruppi,

test t di Student per dati appaiati



Problema ... il casco serve??

tavola osservata

casco | casco

Si no
tr.
o 17 218 235
tr.

130 428 558
no

147 646 793

Da Biostatica, Pagano-Gauvreau




tavola attesa

Problema ... il casco serve??

tavola osservata

casco | casco

Si no
tr.
i 44 191 | 235
tr.

104 455 | 558
no

147 646 | 793

casco | casco

Si no
tr.
o 17 218 235
tr.

130 428 558
no

147 646 793

Da Biostatica, Pagano-Gauvreau




Problema ... |l Cagyo serve??

tavola attesa

casco
Si

tr.
Si

tr.
no

440
S e

646

600

tavola osservata

.
R4S
@CO casco
X Si no
17 218 235
130 428 558
no
147 646 793

Da Biostatica, Pagano-Gauvreau




tavola attesa

Problema ... il casco serve??

tavola osservata

casco | casco

Si no
tr.
i 44 191 | 235
tr.

104 455 | 558
no

147 646 | 793

casco | casco

Si no
tr.
o 17 218 235
tr.

130 428 558
no

147 646 793

P <0,001 - OR=0,26 c.i.(0,15; 0,44)




Problema ... il trattamento A ha dato effetti
significativamente diversi rispetto al trattamento B?

A

B

23

22

21

18

24

17

25

22

25

24

23

25

27

30

26

22

21

24

24

Se dati gaussiani N(p1.01), N(Uz2,02),
con O1 = 02

Test t di Student, Ho = {a = Mz}

D = 33,4%

Cosa significa??
Pensando ad es. a =5% ...

P> a nonrespingo Ho... cioe ...



Problema ... la dieta ha effetto?

Prima

dopo

96

90

Se dati gaussiani N(4p.00), N(H4,04),

92

90

con Op = Od

84

87

Test t di Student ‘per dati accoppiati ',

85

82

97

89

Ho = {Hp = M}

88

85

0 = 0,26%

87

84

Cosa significa??

96

92

Pensando ad es. a =5% ...

P <a respingo Ho... cioe ...



Esempi:

Leggiamo in un articolo:

... X%, p=48,2%. Cosa significa?
... t test, p=0,8%. Cosa significa?

... t test per dati accoppiati, p=36,2%. Cosa
significa?

... t test, p=4,8%. Cosa significa?

... X%, p=3,2%. Cosa significa?



